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1= Collect [Expand[ (w+x+y+2)%], {y, z}]
ouf- - W +5WHXx+10W X2 +10wW2 X3 + Swx + x> +y° + (5w4+20w3x+30w2x2+20wx3+5x4> zZ+
(10w?+ 30w x+30wx*+10x%) 2% + (10w’ +20wx + 10 X?) 2>+ (5w+5x) 2%+
2 +y* (5w+5x+52) +y> (10w’ +20wx + 10 X* + (20w +20X) z + 10 2%) +
y? (16w’ + 30w’ x +30wx? + 10 x> + (30w? + 60w X + 30 x*) z+ (30w +30x) 22 +102%) +
y (5w*+20w’ x+ 30w x* + 20w x> + 5 x* +
(20w’ + 60 W* x + 60WxX* +20X7) Z+ (30w’ + 60 WX + 30 X°) z° + (20w + 20 x) 2> + 5 2%)

1= Collect [Expand[ (w+x+y+2)°%], y| z]
ouf- - W +5wWwHx+10w x2 + 10w x3 + 5wx? + x> +y° + (5w4+20w3x+30w2x2+20wx3+5x4> Z+
(16w? + 30w’ x+30wx*+10x%) 2%+ (10wW* + 20Wx + 10 x*) 2° + (5w+5x) z* +
2 +y* (5w+5x+52) +y? (10w’ +20wx +10x* + (20w +20x) z + 10 2% +
y? (10w® + 30w’ x+30wXx* + 10> + (30w’ + 60w X + 30 X*) z + (30w +30x) 2>+ 10 2%) +
y (5w*+20w’ x+ 30w x*+ 20w x> +5x* +
(20w’ + 60 W> x + 60 W x> +20x>) z+ (30W? + 6@ WX + 30 X°) z° + (20w + 20 x) 2> + 5 2%)

1= Collect [Expand[ (w+x+y+2)%], z |y]
ou = W+ SwHx+ 10w X2 + 10w X3 + 5wxt + X7+ + (5wt + 20w x+ 30w x* + 20w x> + 5x%) z +
(10w?+ 30w x+30wx*+10x%) 22 + (10w’ +20wx + 10 X%} 2>+ (5w+5x) 2%+
2 +y* (5w+5x+52) +y> (10w’ +20wWx + 10X + (20w +20X) z + 10 2%) +
y? (10w’ + 30w’ x +30wx> + 10 x> + (30w? + 60 WX + 30 x*) z+ (30w +30x) 22 +102%) +
y (5w*+20w’ x+30w? x> + 20w x> +5x* +
(20w® + 60 W x + 60 W x> +20x>) z + (30 w? + 60 WX + 30 x%) 2° + (20w + 20 x) 2* + 527)

1= Collect [Expand[ (xq + Xz + X3 + Xa)*], Xx_ /3 k 2 3]
ol = X3+ 5 X3 Xa +10X3 X3 + 10 X3 X3 + 5 X1 X3 + X3 + X3 + (5X] +20 X3 Xz + 30 X} X3 + 20 X1 X3 + 5 X3 ) Xg +
(1853 +30x] x5 + 30X X5 + 10 X3 ) X7 + (18 XF + 20 X3 X5 + 18 X3 ) X3 + (5X1 +5Xp) X +
Xa+X3 (5X1+5%X+5X%g) +X3 (10X3 +20 X1 X5 + 10 X5 + (20 X1 + 20Xz ) X4 + 10 X]) +
X3 (10x3 +30xi X2 + 30 X1 X5 + 103 + (30X} + 60 X1 X + 38 X3) Xz + (30 X1 +30X;) X5 +10X3) +
X3 (5X]+20%3 X +30X] X5 +20X1 X5 +5%5 + (20X3 + 60 X§ Xz + 60 X1 X5 + 20 X3 ) Xg +
(30 x7 + 60 x1 X5 + 30 x3) X3 + (20 X1 + 20Xz} X3 + 5 X5)

Inf+]:= Total[
CoefficientRules [Expand[ (w+x+y+2)%], {y, z}] /. (ps_ - c_) = c (Timesee {y, z}"*)]
outf = w5+5w4x+10w3x2+10w2x3+5wx4+x5+(5w4+20w3x+30w2x2+20wx3+5x4)y+
(10w’ + 30w x+30wx? +10x%) y* + (10wW? + 20w x + 10 X*) y> + (5w +5x) y* +y° +
(5w + 20w’ x+30wW? x> +20wWx> +5x*) z+ (20w’ + 60W* X + 60WX* +20X°) y Z +
(30w? + 60w x +30x%) y?z+ (20w +20x) y> z+5y*z+ (10w’ + 30w? x + 30w Xx® + 10 x%) 2% +
(30w + 60w x +30x%) yz*+ (30w+30x) y? 22 + 10y’ 2> +
(1ow? +20wx +10x%) 2> + (20w +20x) yz> +10y* 2>+ (5w+5x%) 2" +5y z*+ 2°
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